


1-{d#x)=-2

2y=-x+48

2-(1-x)=63

Jx+2=-y+6

6-{x-3)=0

-3X+3=-15

-11x+20=-6

2x+28=x-8

2-x=2x-10

9-(1-X)=2x-4

X+ 1/2=1112 2-(x-4)=-2

{(21-x)=0 [x-8=3x7

2x-12=x-4
4-{2-%)=12

10-5x=-25 [§3-(11-x)=5
8-X=14+5x

3-(7-X)=5

2x-20=x-5

Tx-{x+40)=2

X-2(1-x)=0

3X=6(x-4)

2(2x+1)=0

3-5x=1/2

3X-20=5%/3

3-(11-x)=5

2-x=3x-38

20-4x=26-5x

OX-5=-x+4

3x-10=-x+6

3%-3=9(x-T)




Jx+2=-x+6

6-(x-3)=0

-3X+3=-15

20-4x=26-5X

9X-5=-X+4

2(2x+1)=0

TX-(X+40)=2

X+13=2%

3x-6=6

~11x+20=-6X

-2u+28=x-8

2-x=2%-10

3X-10=-x+6

2%-20=x-5

6x=12/4

X-2(1-x)=0

3X-3=9(x-T)

X+ 12=11/2

X-8=3x7

2u-12=x-4

2-(x-4)=-2

3-5x=1/2

3Ix-20=5x/3

42-2x=8

3-(11-x)=5

4-(2-x)=12

3-(11-X)=5

3-(7-X)=5

8-x=14+5x

1-(4+x)=-2

2%=-X+48

2-(1-X)=63

10-5x=-25

-(21-x)=0







